
CHECK YOUR PENSION
WARNS INVESTMENT EXPERT 
FOR MISSING HUNDREDS OF 

THOUSANDS OF POUNDS







• Based on the growth percentages provided in the image for the 10-year 
period, here's what someone starting with £100,000 in their pension 
would have now in each index:

NASDAQ 100 (NDX): The investment would have grown by 382.22%, 
resulting in a final value of approximately £482,220.

S&P 500 (SPX): The investment would have grown by 166.17%, resulting in 
a final value of approximately £266,170.

MSCI United Kingdom Index (EWU): The investment would have grown by 
24.54%, resulting in a final value of approximately £124,540.
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